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                 SECTION-A     (5x4=20 Marks) 

 Answer any Five questions from the following 

 

1. Jahangir. 




2. Chaut and Sardeshmukhi. 

 



3. East India Company. 


 

4. Free trade Policy. 




5. Mangal Pande. 

 
 

6. Jijiya Bai. 


 

7. Permanent Revenue Settlement. 


 

8. Mansabdari System. 


 

 

 
                  SECTION-B     (5x12=60 Marks) 

Answer all the following questions 

 
 

9.   (a) Write a brief note on Greatness of Akbar. 

                  
(OR) 

       (b) Explain the Socio-Economic Conditions of Mughal Period. 

                  
 

10.  (a) Briefly explain about the life and achievements of Shivaji. 

                 
(OR)

      (b) Examine the importance Third Battle of Panipat. 

                 
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
11.   (a) Explain about the expansion and consolidation of British Power in India. 

                  
(OR) 

       (b) Briefly explain about the Anglo-Maratha Wars. 

                  
 

12.   (a) Discuss about the colonialism and its stages. 

                 
(OR) 

       (b) Describe about the causes and consequences of commercialization of Agriculture. 

                  
 

13.  (a) What were the reasons for the failure of the Sepoy Mutiny.  

                  

(OR) 
     (b) Explain about the growth of Railways, Roads, Communication under Company Rule. 

                  
 


